
�� HR5211C  ����52MM

1 / 19




�� HR5211C  ����52MM

@f�" 2017/11/24

9
 1 / 4

��O��q�¨

���� ���� �� �� 
� N/O 
�1 
�2 �	

001-1 286285-4  D�� 1

002 233948-3 n¥b 25 1

003 257280-1 K 28 1

004 419002-9 
r# 1

005 233948-3 n¥b 25 1

006 324752-2 �b 1

007 419778-8 ��k 1

008 419779-6 (Pk 1

009 310178-4  D� 2

010 345804-6 n¥NU 1

011 233496-2 ��n¥ 49 1

012 213766-5 ªb 78 1

013 158175-0 c�V 1

    C10 213576-0 3u 45 1

    C20 214657-3 &� ] 52 1

    C30 214658-1 &� ] 57 1

014 158179-2 c�kV 1

015 922456-6 H.S.H.�A M8X35 4

016 213492-6 ªb 32 1

017 324740-9  D7yd 1

018 345804-6 n¥NU 1

019 419791-6 �Z�k 1

020 922148-7 H.S.H.�A M4X25 1

021 213274-6 ªb 18 1

022 213392-0 §+#b 25 1

023 213317-4 ªb 20 1

024 324753-0 x¢ 1

025 324756-4 b 20 1

026 424000-0 ��b 24 1

027 324757-2  K>� 1

028 233949-1 n¥b 44 1

029 257282-7 K 47 1

030 267287-9 �b 57 1

031 262122-6 «b 57 1

032 267287-9 �b 57 1

033 256265-4 ^ 10 4

034 324741-7  D7yd B 1

035 419776-2 ��>� 1

036 213654-6 ªb 60 1

037 165459-9 � 1

038 419775-4 -$�N� 1

039 424024-6 `uU 2

040 313138-5 ��>� 1

041-1 419780-1 ~�>� 1

042-1 451516-2 -� 1

043 213460-9 ªb 35 1

044 419771-2 	� 1

045 268121-6 ^ 12 1



�� HR5211C  ����52MM

@f�" 2017/11/24

9
 2 / 4

��O��q�¨

���� ���� �� �� 
� N/O 
�1 
�2 �	

046-1 213296-6 ªb 34 1

047 213510-0 ªb 36 3

048 331748-6 c� 1

049-1 213296-6 ªb 34 1

050 324754-8 �/� 1

051 227511-2 KH�Z 33 1

052 233498-8 ��n¥ 46 1

053 257281-9 K 45 1

054 213118-0 ªb 12 2

055 318124-1 N07d 2

056 213118-0 ªb 12 2

057 419773-8 n¥N%S 2

058 233497-0 T�n¥ 15 2

059 213953-6 ªb 24 2

060 331745-2 0 22 2

061 213953-6 ªb 24 2

062-1 324755-6 &�E 2

063 233497-0 T�n¥ 15 2

064 419773-8 n¥N%S 2

065 213118-0 ªb 12 2

066 318124-1 N07d 2

067 213118-0 ªb 12 2

068 922361-7 H.S.H.�A M6X40 4

069 266192-7 ���A 4X14 1

070 419020-7 4;� 1

071 233436-0 ��n¥ 3 2

072 419777-0 |�¡ 1

073-1 450687-2 W � 1

074-1 213534-6 ªb 36 1

075 233506-5 ��n¥ 16 1

076 310207-3 -� 1

077 345778-1 �U 1

078-1 265014-8 �A M4X12 1

079 318129-1 W Mk 1

080 266192-7 ���A 4X14 2

081 911133-5 �A M4X18 6

082 419789-3 W k 1

083 421998-2 u3K 1

084 345779-9 -U 1

085 419781-9 -UN� 1

086 158176-8 W  ]� 1

087 419008-7 -!S 2

088 423366-5 �_U 1

089 324739-4 W �� 1

090 211418-2 sY 6006LLU 1

091 254229-2 w 5 2

092 226646-6 ���Z 47 1

093 227176-0 ��Z 24 1



�� HR5211C  ����52MM

@f�" 2017/11/24

9
 3 / 4

��O��q�¨

���� ���� �� �� 
� N/O 
�1 
�2 �	

094 961102-6 �b S-22 1

095 253843-1 &���12 1

096 421999-0 u3K 1

097 158178-4 �ZmV 1

098 922341-3 H.S.H.�A M6X25 2

099 125374-9 GT��Z 1

100 419796-6 ��� 1

101 265995-6 �h�A 4X18 1

102 650567-4 �� TG73B-1 1 *

102-1 650676-9 �� C3PA-1111 < 1

103 154626-1 ��dV 1

104 419025-7 ��£� 1

105 313124-6 {p 6 2

106 266041-8 �A 5X25 2

107 266041-8 �A 5X25 6

108 419798-2 �� 1

109 424001-8 L�� 1

110 419783-5 L��7d 1

111 863353-6 �Q HR5211C 1

112 419797-4 �¤R� 1

113 253807-5 &�� 5 2

114 266211-9 �A 5X40 2

115 233434-4 T�n¥ 11 1

116 419013-4 n¥N%S 1

117 419793-2 W¤��k 1

118 631726-9 e'S 1

119 266192-7 ���A 4X14 1 *

119-1 266901-4 ���A 4X14 < 1

120 638510-3 N.V 1

121-1 687678-2 |�� 1

122 266192-7 ���A 4X14 1

123 419024-9 �.�� 1

124 265995-6 �h�A 4X18 4

125 266192-7 ���A 4X14 1 *

125-1 266901-4 ���A 4X14 < 1

126 419774-6 i� 1

127 682561-8 �.)M0 1

128 693574-4 �[. 2.0-2-5.0 1

129 266041-8 �A 5X25 3

130 419790-8 ok 1

131 252178-7 BC�X M8-12 1

132 253165-9 ©2F 8 1

133 240016-5 �l 90 1

134 419782-7 �lN� 1

135-1 195844-2 �a CB-175 1

136 638447-4 �ad 1 *

136-1 632D00-2 �ad < 1

137 419795-8 :5� 1



�� HR5211C  ����52MM

@f�" 2017/11/24

9
 4 / 4

��O��q�¨

���� ���� �� �� 
� N/O 
�1 
�2 �	

138 636301-6 �.b115V 1

139 266095-5 ��h�A 5X55 2

140 210059-1 j} ] 6000DDW 1

141 681642-5 =I�b 1

142 516990-2 :5� 1

    D10 INC. 140,141,145

143 267025-9 &U�� 15 1

144 211238-4  ] 6202LLU 1

145 331596-3 >� 12 1

146 213231-4 u3K 15 1

147 419788-5 �l� 1

A01 158131-0 ��� 36 1

A02 158273-0 �J�*m 1

    C10 163467-4 ¦ 2

    C20 816879-7 16?z 1

A03-1 194683-7 v~3V 1

A04-1 135269-8 ��� 82 1

    C10 252640-2 �X� 1

    C20 265439-6 BC�A M8X150 1

    C30 318505-9 ���� 82A 1

    C40 318506-7 ���� 82B 1

    C50 417002-3 t��g 2

    C60 417003-1 t� 1

    C70 951166-8 n¥^ 5-24 1

A05 265701-9 ��A M6X14 1

A06 266163-4 �A M8X80 1

A07 321248-4 ,�\ 1

A08 344492-6 2F� 1

A09 345780-4 ��n¥ 82 1

A10 419792-4 ���� 82 1

A11 443122-7 < 1

A12 931302-2 BC�X M6 1

A13 805239-8 8�?z HR5211C 1

A14 819787-1 �J�?z HR5211C 2

A15 135380-6 ��V36 1

    D10 INC. A01,A05-A10,A12


